DNS
=
RS
£
B
|
Alg| =

H'I-E,:;
HE'HI—I
=|E
3|2
g =
Ei =
Al =
2R )
:'FIi=l
thﬁ
-
=]
-1
]
L
-4
- 2| 2
wi |
El 2| #
1IN
THE
5| %
$lg| @
3| 5|
g?
El |<9
2 |
=1E
HIE:
z
E
mﬁnﬁ
AEER=
i3 2
Flljg %
E =
2 =
“IE [
Sl 2
9.':355
ﬁ =
af
=
BE
W | | B0
25
E
B

[
==
o
g
B
Y
=
]
r/
.

ITEM| QTY | CODE COMPONENT DESCRIPTION MATERIAL TREATMENT
1 1 413488 TWIST-DNS-ACB PERT-PET BRAIDING -
1 411621 Corrugated Tube PERT -
1 111729 Braiding Wire PET BRAIDING -
2 1 413179 Nipple DN8-3/8 Brass CW517N -
M10X1-6g 3 2 [413523 SLEEVE-DNS AIST304 -
= 4 1 411755 WASHER EPDM EPDM -
e : _ 5 1 415010 FITTING DN8-M10x1 L15.5 |Brass CWE17N -
(@6,1)*dimension before crinping = R TR —— -
7 1 4124563 NUT-G38-H10 Brass HPb58-3 Nickel-Plated
8 1 Hanger Hanger ADED Carton (PaperBoard) =
9 1 |22048 BRAID Nylon-6/6 -
10 1 |23859 LABEL DNS Polypropylene ( PP) .
(#13) .
ey 1
— 'H_\_\__
(@8 ,4)
! y ¥ i
(@6,1)*dimension before crinping | 3\‘
— N/
/— SW19+0.3
CODE Descrption Length 'Hanger Customer Code EAN client
208513 | TWIST-ACB-H3/8-M10X1-L15.5 500 +20/-0 23813 MF204 3276007150223
@9,7+0,15
G3!'E"
APPROVED BY Fim 2020/7/8
Otucai’ o
L TWIST-ACB-H3/8-M10X1-L15.5-ADEO s
e tueal .eem

This document & property of TUCAI and it cannot be released in any support or media without permission by wntten means by TUCAL




